



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right) + \frac{2}{5} =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{2} = \left(-\frac{59}{64}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{5} = \left(-\frac{3}{80}\right)$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} = \frac{3}{10}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} = \frac{37}{80}$$

$$\left(-\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{49}{150}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{4} = \frac{1}{2}$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{2} = \frac{9}{16}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{150}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(\frac{1}{3}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) = \frac{109}{216}$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{6} = \left(-\frac{119}{750}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{2}{5} = \frac{19}{25}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{18}$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{5}\right) = \frac{9}{20}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{22}{75}\right)$$

$$\left(\frac{1}{2}\right) - \left(-\frac{3}{5}\right) = \frac{11}{10} = 1\frac{1}{10}$$

$$\left(\frac{3}{4}\right) + \frac{2}{5} = \frac{23}{20} = 1\frac{3}{20}$$